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Class: 7th Subject : Science Total Marks: 10

Date: 18/07/2025      Chapter: 1 Time:

Science 10 marks

Answer Key

[10]Q.1) Solve Following Questions (Any 5)

1) null

2) Fungus lacks chlorophyll and thus is unable to perform photosynthesis.

3) The carnivores animals use the canine teeth to prerace and hold the prey caught by them.

4) Adaptation are the modifications seen due to gradual changes in the body parts and in the

behaviour of plants and animals. These long-term changes help them to adjust to their

surroundings.

5) i) Bos taurus ii) Hibiscus rosa-sinensis

6) null
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